

Home Search Collections Journals About Contact us My IOPscience

Aharonov-Bohm scattering on two antiparallel flux lines of the same magnitude-without return flux

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

1993 J. Phys. A: Math. Gen. 26 4441

(http://iopscience.iop.org/0305-4470/26/17/048)

View the table of contents for this issue, or go to the journal homepage for more

Download details: IP Address: 171.66.16.68 The article was downloaded on 01/06/2010 at 19:33

Please note that terms and conditions apply.

# Aharonov–Bohm scattering on two antiparallel flux lines of the same magnitude—without return flux

Zhi-Yu Gu<sup>†</sup><sup>‡</sup> and Shang-Wu Qian<sup>†</sup><sup>§</sup>

 † Center of Theoretical Physics, CCAST (World Lab.), Beijing, People's Republic of China
 ‡ Capital Normal University (Division), Bai Guang Street, Beijing 10053, People's Republic of China

§ Physics Department, Peking University, Beijing 100871, People's Republic of China

Received 11 March 1993

Abstract. The problem of Aharonov-Bohm (AB) scattering on two parallel flux lines of arbitrary magnitude is solved exactly; the expression for scattering cross-section in the region of geometric shadow is derived. It is shown that in the particular case of two antiparallel lines of the same magnetic flux, though the return flux does not exist, the AB scattering still exists.

#### 1. Introduction

We have solved exactly the AB scattering [1] on two parallel flux lines and flux tubes of the same magnitude [2-4]. Now we shall further generalize our method to solve exactly the AB scattering on two flux lines of arbitrary magnitude, the fluxes are  $\beta_1 \Phi$ and  $\beta_2 \Phi$ , respectively. In the particular case of two antiparallel lines of the same magnitude ( $\beta_1 = -\beta_2 = 1$ ), the return flux [5] does not exist, but we shall show that AB scattering still occurs in this case by the calculation of scattering cross-section. This result is very important in understanding the cause of AB scattering.

### 2. Vector potential

Let OXY be the coordinate plane perpendicular to two flux lines, and the coordinates of the two flux lines be (a, 0) and (-a, 0), respectively. We choose two polar coordinates  $(\rho_1, \phi_1)$  and  $(\rho_2, \phi_2)$  with these two points as poles. In the Coulomb gauge, the vector potential is

$$A = \frac{\Phi}{2\pi} \left( \frac{\beta_1 e_{\phi_1}}{\rho_1} + \frac{\beta_2 e_{\phi_2}}{\rho_2} \right) \tag{1}$$

4441

-~

where  $e_{\phi_1}$  and  $e_{\phi_2}$  are the unit vectors in the transverse direction of the two polar coordinates. In terms of elliptical coordinates  $(\mu, \theta)$ 

$$x = a \cosh \mu \cos \theta$$
  $y = a \sinh \mu \sin \theta$  (2)

(1) becomes

$$A = \frac{\Phi}{2\pi\hbar} \left[ -\frac{(\beta_1 - \beta_2)\cosh\mu\sin\theta + (\beta_1 + \beta_2)\sin\theta\cos\theta}{\cosh^2\mu - \cos^2\theta} e_{\mu} + \frac{(\beta_1 - \beta_2)\sinh\mu\cos\theta + (\beta_1 + \beta_2)\sinh\mu\cosh\mu}{\cosh^2\mu - \cos^2\theta} e_{\theta} \right]$$
$$(\hbar = [\cosh^2\mu - \cos^2\theta]^{1/2}). \tag{3}$$

Now we simplify the form of vector potential by a gauge function  $\Lambda$ . Let the coefficient of  $e_{\mu}$  of the new vector potential equal zero, we obtain

$$\Lambda = \frac{\Phi}{2\pi} \left\{ (\beta_1 - \beta_2) \tan^{-1} \frac{\sinh \mu}{\sin \theta} + \frac{(\beta_1 + \beta_2)}{2} \\ \left[ \sin^{-1} \frac{\cosh \mu \cos \theta - 1}{\cosh \mu - \cos \theta} + \sin^{-1} \frac{\cosh \mu \cos \theta + 1}{\cosh \mu + \cos \theta} \right] + 2g(\theta) \right\}$$
(4)

where  $g(\theta)$  is a certain function of  $\theta$ . The new vector potential is

$$\mathbf{A}' = \frac{\Phi}{\pi h} g'(\theta) \mathbf{e}_{\theta} \qquad g'(\theta) \equiv \frac{\mathrm{d}g(\theta)}{\mathrm{d}\theta}.$$
 (5)

Equation (5) must satisfy the physical demand that

$$\oint_{C_1} \mathbf{A}' \cdot \mathbf{d}\gamma = \beta_1 \Phi \qquad \oint_{C_2} \mathbf{A}' \cdot \mathbf{d}\gamma = \beta_2 \Phi \tag{6}$$

where  $C_1$  and  $C_2$  are two closed paths around each flux. From (6) we get

$$g(\theta) = -\left[\frac{(\beta_1 - \beta_2)}{2}\frac{\pi}{2}(1 - \sin\theta) + \frac{(\beta_1 + \beta_2)}{2}\left(\frac{\pi}{2} - \theta\right)\right].$$
 (7)

Substituting (7) into (5) we obtain

$$\mathbf{A}' = \frac{\Phi}{\pi h} \left( \frac{(\beta_1 - \beta_2)}{2} \frac{\pi}{2} \cos \theta + \frac{(\beta_1 + \beta_2)}{2} \right] \mathbf{e}_{\theta}.$$
(8)

## 3. Schrödinger equation

The Schrödinger equation is

$$\left(\nabla - \frac{ie}{\hbar c} \mathbf{A}'\right)^2 \psi' = -k^2 \psi' \tag{9}$$

where  $k = (2mE/\hbar^2)^{1/2}$  is the wavenumber. By writing

$$\psi' = M(\mu)\Theta(\theta) = M(\nu)Q(\theta) \exp\left\{-i\alpha \left[(\beta_1 - \beta_2)\frac{\pi}{2}\sin\theta + (\beta_1 + \beta_2)\theta\right]\right\}$$
(10)

we find

$$\frac{d^2 M}{d\nu^2} + (\lambda - 2q\cos 2\nu)M = 0$$

$$\frac{d^2 Q}{d\theta^2} + (\lambda - 2q\cos 2\theta)Q = 0$$
(11)

where  $\alpha \equiv -e\Phi/2\pi\hbar c$  is the quantum number of flux,  $\nu = i\mu$ ,  $q = a^2k^2/4$ ,  $\lambda + 2q$  is the constant introduced in the separation of variables. Equations (11) are recognized as the Mathieu equations. Using the general solution of (11) and the relations between wavefurction  $\psi$  (corresponding to A) and  $\psi'$  (corresponding to A') we get

$$\psi = \exp\left[i\alpha(\beta_{1} - \beta_{2})\left(\tan^{-1}\frac{\sinh\mu}{\sin\theta} - \frac{\pi}{2}\right) + i\alpha\frac{\beta_{1} + \beta_{2}}{2}\left(\sin^{-1}\frac{\cosh\mu\cos\theta - 1}{\cosh\mu - \cos\theta} + \sin^{-1}\frac{\cosh\mu\cos\theta + 1}{\cosh\mu + \cos\theta} - \pi\right)\right] \\ \times \sum_{n=0}^{\infty} \left\{(A_{n}Ce_{2n}(\mu, q) + \bar{A}_{n}Fey_{2n}(\mu, q)]ce_{2n}(\theta, q) + [B_{n}Ce_{2n+1}(\mu, q) + \bar{B}_{n}Fey_{2n+1}(\mu, q)]ce_{2n+1}(\theta, q) + [C_{n}Se_{2n+1}(\mu, q) + \bar{C}_{n}Gey_{2n+1}(\mu, q)]se_{2n+2}(\theta, q)\right\}.$$
(12)

In order to satisfy the initial condition that the current density

$$\mathbf{j} = \frac{\hbar(\psi^* \nabla \psi - \psi \nabla \psi^*)}{2\mathbf{i}m} - \frac{\mathbf{e}}{\mathbf{mc}} \mathbf{A} \psi^* \psi$$
(13)

should be constant and in the x direction, the incident wave must be chosen as

$$\psi_{\text{inc}} = \exp\{-2i\alpha[g(\theta) + g_0] - ikx\}.$$
(14)

For simplicity we choose the arbitrary constant  $g_0$  as

$$g_0 = \left(\frac{\beta_1 - \beta_2}{2} + \frac{\beta_1 + \beta_2}{2}\right) \frac{\pi}{2} = \frac{\pi}{2}\beta_1$$
(15)

hence (14) becomes

$$\psi_{\rm inc} = \exp\left\{-\mathrm{i}(\beta_1 + \beta_2)\alpha\theta - \mathrm{i}(\beta_1 - \beta_2)\alpha\frac{\pi}{2}\sin\theta + \mathrm{i}k\rho\sin(\theta + \tau)\right\}$$
(16)

where  $\tau$  is the angle between the wavevector k of the incident wave and the y axis.

Considering the expression (16) of the incident wave, we rewrite (12) as

$$\begin{split} \psi &= \exp\left\{-i(\beta_{l}-\beta_{2})\alpha\frac{\pi}{2}\sin\theta\right\} \cdot \left\{\sum_{m=0}^{\infty}\sum_{l}\left[C_{mlq}^{\epsilon}Ce_{l}(\mu,q)\right.\\ &+ C_{mlq}^{\epsilon}Fey_{l}(\mu,q) + S_{mlq}^{\epsilon}Se_{l}(\mu,q) + \tilde{S}_{mlq}^{\epsilon}Gey_{l}(\mu,q)\right]ce_{m}(\theta,q) \\ &+ \sum_{m=1}^{\infty}\sum_{l}\left[C_{mlq}^{s}Ce_{l}(\mu,q) + \tilde{C}_{mlq}^{s}Fey_{l}(\mu,q) + S_{mlq}^{s}Se_{l}(\mu,q)\right.\\ &+ \tilde{S}_{mlq}^{s}Gey_{l}(\mu,q)\right]se_{m}(\theta,q) \\ &= \exp\left\{-i(\beta_{1}-\beta_{2})\alpha\frac{\pi}{2}\sin\theta\right\} \cdot \left\{\sum_{m=0}^{\infty}\sum_{l}\left[(C_{ml}^{\epsilon}+c_{ml}^{\epsilon}q+O(q^{2}))Ce_{l}(\mu,q)\right.\\ &+ (\tilde{C}_{ml}^{\epsilon}+\tilde{c}_{ml}^{\epsilon}q+O(q^{2}))Fey_{l}(\mu,q) + (S_{ml}^{\epsilon}+s_{ml}^{\epsilon}q+O(q^{2}))Se_{l}(\mu,q) \\ &+ (\tilde{S}_{ml}^{\epsilon}+\tilde{s}_{ml}^{\epsilon}q+O(q^{2}))Gey_{l}(\mu,q)\right]ce_{m}(\theta,q) \\ &+ \left(\tilde{C}_{ml}^{\epsilon}+\tilde{c}_{ml}^{\epsilon}q+O(q^{2}))Fey_{l}(\mu,q) \\ &+ (\tilde{C}_{ml}^{\epsilon}+\tilde{c}_{ml}^{\epsilon}q+O(q^{2}))Fey_{l}(\mu,q) \\ &+ (\tilde{S}_{ml}^{\epsilon}+\tilde{s}_{ml}^{\epsilon}q+O(q^{2}))Fey_{l}(\mu,q) \\ &+ (\tilde{S}_{ml}^{\epsilon}+\tilde{s}_{ml}^{\epsilon}q+O(q^{2}))Fey_{l}(\mu,q) \\ &+ (\tilde{S}_{ml}^{\epsilon}+\tilde{s}_{ml}^{\epsilon}q+O(q^{2}))Se_{l}(\mu,q) \\ &+ (\tilde{S}_{ml}^{\epsilon}+\tilde{s}_{ml}^{\epsilon}q+O(q^{2}))Se_{l}(\mu,q) \\ &+ (\tilde{S}_{ml}^{\epsilon}+\tilde{s}_{ml}^{\epsilon}q+O(q^{2}))Gey_{l}(\mu,q)\right]se_{m}(\theta,q)\right\}$$

$$(17)$$

where the coefficients  $C_{ml}^c$ ,  $\tilde{C}_{ml}^c$ ,  $\tilde{S}_{ml}^c$ ,  $\ldots$  are functions of  $\alpha$  only. Using the same method as [1], we can find these coefficients under the conditions  $\mu \to \infty$  and  $q \to 0$ . Let

$$\Theta = \exp\left\{-i\alpha(\beta_1 - \beta_2)\frac{\pi}{2}\sin\phi + im\phi\right\}$$
(18)

we obtain

$$\lambda = [m + (\beta_1 + \beta_2)\alpha]^2 \tag{19}$$

and hence

$$R'' + \frac{1}{\rho}R' + \left\{k^2 - \frac{[m + (\beta_1 + \beta_2)\alpha]^2}{\rho^2}\right\}R = 0$$
(20)

where  $R(\rho) = M(\mu)$ ,  $(\rho, \phi)$  are polar coordinates with the origin of the rectangular coordinates as pole. Through quite a tedious calculation as that given in [1], we find

$$C_{00}^{c} = \frac{1}{2p_{0}^{c}} (e^{-2i\delta} + 1) \qquad \bar{C}_{00}^{c} = \frac{i}{2p_{0}^{c}} (e^{-2i\delta} - 1), \left(\delta = \frac{1}{2} (\beta_{1} + \beta_{2}) \pi \alpha\right)$$

$$C_{ml}^{c} = \begin{cases} \frac{2}{p_{l}^{i}} \cos(2n\tau - \delta) \cos \delta & l = m = 2n \neq 0 \\ \frac{2i}{p_{l}^{i}} \sin[(2n+1)\tau - \delta] \cos \delta & l = m = 2n + 1 \\ 0 & l \neq m \end{cases}$$

$$\bar{C}_{ml}^{c} = \begin{cases} \frac{2i}{p_{l}^{i}} \sin(2n\tau - \delta) \sin \delta & l = m = 2n \neq 0 \\ \frac{2}{p_{l}^{i}} \cos[(2n+1)\tau - \delta] \sin \delta & l = m = 2n + 1 \\ 0 & l \neq m \end{cases}$$

$$S_{ml}^{s} = \begin{cases} \frac{2i}{s_{l}^{i}} \cos[(2n+1)\tau - \delta] \cos \delta & l = m = 2n + 1 \\ \frac{-2}{s_{l}^{i}} \sin[(2n+2)\tau - \delta] \cos \delta & l = m = 2n + 2 \\ 0 & l \neq m \end{cases}$$

$$\bar{S}_{ml}^{s} = \begin{cases} \frac{-2}{s_{l}^{i}} \sin[(2n+1)\tau - \delta] \sin \delta & l = m = 2n + 1 \\ \frac{-2}{s_{l}^{i}} \sin[(2n+1)\tau - \delta] \cos \delta & l = m = 2n + 2 \\ 0 & l \neq m \end{cases}$$

$$\bar{S}_{ml}^{s} = \begin{cases} \frac{-2}{s_{l}^{i}} \sin[(2n+1)\tau - \delta] \sin \delta & l = m = 2n + 1 \\ \frac{2i}{s_{l}^{i}} \cos[(2n+1)\tau - \delta] \sin \delta & l = m = 2n + 1 \\ \frac{2i}{s_{l}^{i}} \cos[(2n+1)\tau - \delta] \sin \delta & l = m = 2n + 1 \\ \frac{2i}{s_{l}^{i}} \cos[(2n+1)\tau - \delta] \sin \delta & l = m = 2n + 2 \\ 0 & l \neq m \end{cases}$$

$$S_{ml}^{s} = S_{ml}^{s} = C_{ml}^{s} = \bar{C}_{ml}^{s} = \bar{C}_{ml}^{s} = 0 \qquad (21)$$

the constant multipliers  $p'_i$  and  $s'_i$  are given in [6, pp. 368–369].

We comment here on criticism [7] of this method of calculation. First, (8) is calculated from two magnetic flux lines, it is singular only at two foci  $F_1$  and  $F_2$ , not at other points on the line  $\overline{F_1F_2}$ , i.e. there is no singularity for A' on the line  $\overline{F_1F_2}$  except at the two ends. Second, the singularity of elliptical coordinates consists only in the multivaluedness of  $\theta$  on the line  $\overline{F_1F_2}$ , but this singularity can be removed by recognizing  $\overline{F_1F_2}$  as a branch line. Thirdly, there is no singularity for our solution (12) on the line  $\overline{F_1F_2}$ ; in the appendix we show explicitly that this solution obeys  $\psi(\mu=0, \theta) = \psi(\mu=0, -\theta)$ . Finally, we do not use any nearby boundary conditions to determine the coefficients in (17), we use only the faraway boundary conditions. Therefore our results (17) and (21) are related to the scattering of electrons by two magnetic flux lines, not by a magnetic flux which is spread continuously along the line  $\overline{F_1F_2}$  [7], and our method of calculation is correct.

#### 4. Scattering cross-section

In the asymptotic region  $\phi = \theta$ 

$$\psi = \exp\left\{-i(\beta_1 + \beta_2)\alpha\theta - i(\beta_1 - \beta_2)\alpha\frac{\pi}{2}\sin\theta + ik\rho\sin(\theta + \tau)\right\} + f(\theta)\frac{e^{ik\rho}}{\sqrt{k\rho}}.$$
 (22)

Combining (17), (21) and (22), taking advantage of the orthogonality relations of Mathieu functions, we can find the expression for  $f(\theta)$  as an expansion for the Mathieu functions. We find that the results are easily obtained from [1] by changing  $2\alpha$  to  $(\beta_1 + \beta_2)\alpha$  and by increasing a phase factor  $\exp\{-i(\beta_1 - \beta_2)\alpha(\pi/2)\sin\theta\}$ .

Now we derive an expression for  $f(\theta)$  in the region of the geometric shadow of the strings where q is very large but not yet infinite. When  $qa \gg 1$ , and  $-\pi/2 < \theta < \pi/2$  we have

$$f(\theta) = \exp\left\{-i(\beta_{1} - \beta_{2})\alpha \frac{\pi}{2}\sin\theta\right\} \cdot \left[\frac{1}{2}(H_{0}^{+} + h_{0}^{+}q + O(q^{2}))ce_{0}(\theta, q) + \sum_{n=1}^{\infty} (H_{1n}^{+} + h_{1n}^{+}q + O(q^{2}))ce_{2n}(\theta, q) + \sum_{n=0}^{\infty} (H_{2n}^{+} + h_{2n}^{+}q + O(q^{2}))ce_{2n+1}(\theta, q) + \sum_{n=0}^{\infty} (H_{3n}^{+} + h_{3n}^{+}q + O(q^{2}))se_{2n+1}(\theta, q) + \sum_{n=0}^{\infty} (H_{4n}^{+} + h_{4n}^{+}q + O(q^{2}))se_{2n+2}(\theta, q)\right]$$

$$(23)$$

where

$$H_{0}^{+} = \sqrt{\frac{2}{\pi}} e^{-(i\pi/4)-2i\delta} \qquad H_{1n}^{+} = (-1)^{n} \sqrt{\frac{2}{\pi}} e^{-i\pi/4} \cos(2n\tau - 2\delta)$$
$$H_{2n}^{+} = i(-1)^{n} \sqrt{\frac{2}{\pi}} e^{i\pi/4} \sin[(2n+1)\tau - 2\delta] \qquad (24)$$

$$H_{3n}^{+} = i(-1)^{n} \sqrt{\frac{2}{\pi}} e^{-i\pi/4} \cos[(2n+1)\tau - 2\delta]$$

$$H_{4n}^{+} = (-1)^n \sqrt{\frac{2}{\pi}} e^{-i\pi/4} \sin[(2n+2)\tau - 2\delta].$$

When  $\alpha \rightarrow 0$ , we must have  $f(\theta) = 0$ , by the orthogonality of circular functions, equation (59) and the corrected version of equation (60) of [1] ((E2) of [2] should

change to  $-e^{-2i\delta}\cos(2\theta)$  in this case), we get

$$h_{0}^{+} = \frac{e^{-i\pi/4}}{\sqrt{2\pi}} \left( \frac{\pi}{2} + \tau + \sin \tau \right) \qquad h_{1n}^{+} = -\frac{e^{-i\pi/4}}{\sqrt{2\pi}} \frac{\sin \tau}{4n^{2} - 1}$$

$$h_{2n}^{+} = -\frac{e^{-i\pi/4}}{\sqrt{2\pi}} \frac{\sin \tau}{(2n+1)^{2} - 1} \qquad (25)$$

$$h_{3n}^{+} = \frac{-e^{-i\pi/4}}{\sqrt{2\pi}} \frac{(2n+1)\cos \tau}{(2n+1)^{2} - 1} \qquad h_{4n}^{+} = -\frac{e^{-i\pi/4}}{\sqrt{2\pi}} \frac{(2n+2)\cos \tau}{(2n+2)^{2} - 1}.$$

Substituting (24), (25) into (23) and using the approximate formula [6]

$$\frac{ce_{m}}{se_{m}}(\theta,q) \approx \frac{p'_{m}}{s'_{m+1}} \frac{2^{m-1/2}}{(\pi q^{1/2})^{1/2} \cos^{m+1}\theta} \times \left\{ e^{2q^{1/2} \sin \theta} \left[ \cos\left(\frac{\theta}{2} + \frac{\pi}{4}\right) \right]^{2m+1} \pm e^{-2q^{1/2} \sin \theta} \left[ \sin\left(\frac{\theta}{2} + \frac{\pi}{4}\right) \right]^{2m+1} \right\}$$
(26)

in the case  $\tau = -\pi/2$  and  $\theta \approx 0$ , we get

$$f = -\frac{\sqrt{2} e^{-i\pi/4}}{2\pi q^{1/4}} \cos 2\delta \left\{ p'_0 + 2 \sum_{n=0}^{\infty} \left( p'_{2n+1} - p'_{2n} \right) + \frac{q}{\cos 2\delta} \sum_{n=0}^{\infty} \left( \frac{p'_{2n+1}}{(2n+1)^2 - 1} - \frac{p'_{2n}}{4n^2 - 1} \right) + ip'_0 \tan 2\delta \right\}$$
(27)

hence

$$\sigma = |f|^{2} = \frac{\cos^{2} 2\delta}{2\pi^{2} q^{1/2}} \left\{ \left[ p_{0}' + 2 \sum_{n=0}^{\infty} \left( p_{2n+1}' - p_{2n}' \right) + \frac{q}{\cos 2\delta} \sum_{n=0}^{\infty} \left( \frac{p_{2n+1}'}{(2n+1)^{2} - 1} - \frac{p_{2n}'}{4n^{2} - 1} \right) \right]^{2} + p_{0}^{-2} \tan^{2} 2\delta \right\}.$$
(28)

In the particular case of two antiparallel lines of flux,  $\beta_1 = -\beta_2 = 1$ , (28) reduces to

$$\sigma = \frac{1}{2\pi^2 q^{1/2}} \left[ p_0' + 2\sum_{n=0}^{\infty} \left( p_{2n+1}' - p_{2n}' \right) + q \sum_{n=0}^{\infty} \left( \frac{p_{2n+1}'}{(2n+1)^2 - 1} - \frac{p_{2n}'}{4n^2 - 1} \right) \right]^2.$$
(29)

Obviously, the scattering cross-section does not equal zero in this case. Hence we obtain the important conclusion: even in the case that the return flux does not exist, AB scattering still exists.

# Acknowledgment

We would like to thank the referee for suggesting a very good improvement to this paper. This work is supported by the National Natural Science Foundation of China and Beijing Municipal Natural Sciences Foundation.

# Appendix

Here we give the proof of the result:

$$\psi(\mu = 0, \theta) = \psi(\mu = 0, -\theta).$$
 (A.1)

Using the following formulae [6, pp. 161-162]:

$$Se_{2n+1}(\mu, q) = \frac{se_{2n+1}(\pi/2, q)}{kB_1^{(2n+1)}} \tanh \mu \sum_{r=0}^{\infty} (-1)^r (2r-1) B_{2r+1}^{(2n+1)} J_{2n+1}(2k \cosh \mu)$$

$$(b_{2n+1})$$

$$Gey_{2n+1}(\mu, q) \approx \frac{se_{2n+1}(\pi/2, q)}{kB_1^{(2n+1)}} \tanh \mu \sum_{r=0}^{\infty} (-1)^r (2r+1) B_{2r+1}^{(2n+1)} Y_{2n+1}(2k \cosh \mu)$$

$$Se_{2n+1}(\mu, q) = \frac{(b_{2n+2})}{k^2 B_{2n+2}^{(2n+1)}} \tanh \mu \sum_{r=0}^{\infty} (-1)^r (2r+2) B_{2r+2}^{(2n+1)} J_{2n+2}(2k \cosh \mu)$$

$$(A.2)$$

$$(b_{2n+2})$$

$$(b_{2n+2}) = \sum_{r=0}^{\infty} (-1)^r (2r+2) B_{2r+2}^{(2n+2)} J_{2n+2}(2k \cosh \mu)$$

$$Gey_{2n+2}(\mu, q) = \frac{-se_{2n+2}(\pi/2, q)}{k^2 B_2^{(2n+2)}} \tanh \mu \sum_{r=0}^{\infty} (-1)^r (2r+2) B_{2r+2}^{(2n+2)} Y_{2n+2}(2k \cosh \mu)$$

and the result  $\tanh \mu|_{\mu=0} = 0$ , we get

 $(b_{2n+2})$ 

$$Se_m(0,q) = 0 m = 2n+1, 2n+2. (A.3)$$

$$Gey_m(0,q) = 0$$

Using the following formulae [6, p. 21]:

$$ce_{2n}(\theta, q) = \sum_{r=0}^{\infty} A_{2r}^{(2n)} \cos 2r\theta \qquad (a_{2n})$$

$$ce_{2n+1}(\theta, q) = \sum_{r=0}^{\infty} A_{2r+1}^{(2n+1)} \cos (2r+1)\theta \qquad (a_{2n+1})$$

and the relation  $\cos(-\phi) = \cos \phi$ , we obtain

$$ce_m(-\theta, q) = ce_m(\theta, q) \qquad m = 2n, 2n+1.$$
(A.5)

Letting  $\mu = 0$  in (12), using  $\sinh \mu |_{\mu=0} = 0$  and  $\cosh \mu |_{\mu=0} = 1$ , and applying (A.3), we get

$$\psi(\mu = 0, \theta) = \exp(-i\alpha\beta, \pi) \sum_{n=0}^{\infty} \{ [A_n Ce_{2n}(0, q) + \bar{A}_n Fey_{2n}(0, q)] ce_{2n}(\theta, q) + [B_n Ce_{2n+1}(0, q) + \bar{B}_n Fey_{2n+1}(0, q)] ce_{2n+1}(\theta, q) \}.$$
(A.6)

Letting  $\theta \rightarrow -\theta$  in (A.6) and applying (A.5), we easily obtain the required result (A.1).

## References

- [1] Aharonov Y and Bohm D 1959 Phys. Rev. 115 485
- [2] Gu Z Y and Qian S W 1988 J. Phys. A: Math. Gen. 21 2573
- [3] Gu Z Y and Qian S W 1990 J. Phys. A: Math. Gen. 23 4183
- [4] Gu Z Y and Qian S W 1990 J. Phys. A: Math. Gen. 23 4127
- [5] J. Q. Liang 1985 Phys. Rev. D 32 1014
- [6] Mclachlan N W. 1947 Theory and Applications of Mathieu Functions (Oxford: Oxford University Press)
- [7] Stovicek P 1991 Phys. Lett. 161A 13